



Article Knowledge, Attitudes and Practices Regarding Taeniasis in Pakistan

Saba Bibi ^{1,†}, Muhammad Kamran ^{1,2,†}, Haroon Ahmad ¹, Kainat Bibi ¹, Syed Kamran Ul Hassan Naqvi ¹, Qingqiu Zuo ^{3,4,5}, Naseer Ali Shah ^{1,*} and Jianping Cao ^{3,4,5,6,*}

- ¹ Department of Biosciences, COMSATS University Islamabad (CUI), Park Road, Chak Shahzad, Islamabad 45550, Pakistan
- ² Department of Medical Laboratory Technology, Islamabad Medical and Dental College, Islamabad 45400, Pakistan
- ³ National Institute of Parasitic Diseases, Chinese Center for Disease Control and Prevention (Chinese Center for Tropical Diseases Research), Shanghai 200025, China
- ⁴ Key Laboratory of Parasite and Vector Biology, National Health Commission of the People's Republic of China, Shanghai 200025, China
- ⁵ WHO Collaborating Center for Tropical Diseases, Shanghai 200025, China
- ⁶ The School of Global Health, Chinese Center for Tropical Diseases Research, Shanghai Jiao Tong University School of Medicine, Shanghai 200025, China
- * Correspondence: drnaseer@comsats.edu.pk (N.A.S.); caojp@chinacdc.cn (J.C.)
- [†] These authors contributed equally to this work.

Abstract: Taeniasis is a neglected zoonotic disease responsible for serious health disorders, such as seizures, and may even cause death. Humans are the definitive host for the three species Taenia solium (pork tapeworm), T. saginata (beef tapeworm), and T. asiatica, harboring the adult tapeworm in the small intestine. In this study, a structured questionnaire was circulated to assess the knowledge, attitudes, and practices (KAPs) regarding taeniasis among the rural and urban communities of Rawalpindi and Islamabad, Pakistan. A total of 770 individuals participated in the study. Of the total respondents, 44.4% had little knowledge about the disease and its impact, while the majority (70%) of respondents showed a willingness to participate in elimination campaigns by providing fecal samples. Most respondents kept raw meat separated from clean utensils (81.6%) and checked the internal temperature of meat when cooking it (75.1%). Regression analysis showed a significant association between age and knowledge, especially in the 20–30 years (p < 0.05; OR 0.574) and 30 to 40 years (p < 0.05; OR 0.553) age groups, and being a resident in Rawalpindi (p < 0.05; OR 0.68) and other cities (*p* < 0.05; OR 2.43), except Islamabad. Income ranges of 31,000–50,000 PKR (*p* < 0.05; OR: 0.574), 51,000–70,000 PKR (*p* < 0.05; OR 0.531), and above 70,000 PKR (*p* < 0.05; OR 0.42) were significantly related to attitude, compared with individuals with incomes of 10,000-30,000 PKR. Income above 70,000 PKR (p < 0.05; OR 0.87) and living in an urban area (p < 0.05; OR 0.616) compared to a rural area were significant with practices. A positive attitude was observed regarding awareness and prevention of the disease. Awareness campaigns and providing health education could be key approaches to manage this disease in the general population of developing countries.

Keywords: taeniasis; Taenia solium/saginata; knowledge; attitudes; practices; Pakistan; socio-demographic

1. Introduction

Human taeniasis is the one of the leading foodborne parasitic disease, according to the World Health Organization (WHO) [1]. The causative agents are tapeworms from the Taeniidae family (subclass Eucestoda, order Cyclophyllidea) [2]. The adult tapeworms of the three responsible species are found in the small intestine of humans. Cattle serve as the vertebrate intermediate host of *Taenia saginata*, whereas pigs are the larval hosts for *T. asiatica* and *T. solium* [3]. The accidental entry of the eggs through contaminated food or water leads to the onset of cysticercosis, in which humans serve as an intermediate



Citation: Bibi, S.; Kamran, M.; Ahmad, H.; Bibi, K.; Naqvi, S.K.U.H.; Zuo, Q.; Shah, N.A.; Cao, J. Knowledge, Attitudes and Practices Regarding Taeniasis in Pakistan. *Diseases* 2023, *11*, 95. https:// doi.org/10.3390/diseases11030095

Academic Editor: Martin Götte

Received: 19 May 2023 Revised: 16 June 2023 Accepted: 22 June 2023 Published: 7 July 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). host for the parasite. In the human intestine, the worm takes between 5 and 12 weeks to reach adulthood [4]. *T. solium* can live for at least 25 years. Its eggs are spherical and within the shell are six-hooked tapeworm larvae. These larvae are small cysticerci, about 6–18 mm wide and 4–6 mm in length, and can be found in the muscle or subcutaneous tissues of their intermediate host (generally pigs). The cysticerci can also be found in other tissues, including those of the central nervous system, where they can grow much larger, sometimes many cm in diameter. Adult tapeworms have a median length of approximately 3 m; however, they can develop to up to 8 m in length. A single worm may harbor 800–1000 proglottids filled with eggs [5].

Neurocysticercosis (NCC), due to the development of cysts in the central nervous system (CNS), is frequently reported. NCC is considered the most common parasitic infection of the human nervous system. It is the most preventable cause of epilepsy in developing countries, and about 30% of cases are reported from underdeveloped countries [6]. Cysticercosis is prevalent in various countries and is associated with poverty and illiteracy, as well as the lack of competent diagnostic and management skills and effective preventative and control efforts. Cysticercosis imposes a significant economic burden owing to losses in the meat industry from porcine cysticercosis and hospitalization expenditure in managing NCC [7,8].

The prevalence of taeniasis and cysticercosis in developed countries is likely evolving, but a lack of solid data is one of the biggest barriers in determining the actual size of the problem. In one epidemiological investigation, females were found to have a greater prevalence (61%) than males (32%) [9]. The illness burden brought on by NCC is higher in areas where it is endemic. In Honduras, Ecuador, and Peru, recent controlled studies using computed tomography have revealed a strong association in the field between NCC and seizures, with nearly 30% of seizures attributable to NCC infection [10]. According to the WHO, taeniasis affects 500 million people worldwide, mostly in underdeveloped nations, and leads to the death of 50,000 people per year [11]. Asian countries, such as India, Pakistan, northern China, and Thailand, are affected by the disease [12]. In Nepal, *Taenia* cysts were discovered in pig flesh from Kangeswari, Kathmandu for the first time in 2019 [13].

The linked variables of a high frequency of infection include risk factors, production systems, food culture, insufficient regulatory mechanisms, and low priority in control programs. The increasing incidence of cysticercosis in pigs and humans is linked to a rapid rise in small-scale pig farming [9]. Cysticercosis is thought to be eradicable due to several factors, including the following: humans are the only definitive host and the only source of infection for intermediate hosts; domestic animals serve as primary intermediate hosts or reservoirs and are easily controlled; there are no significant wildlife reservoirs; and control interventions are readily available. There have been infrequent reports of cysticercosis, particularly the cerebral variant. Additionally, the racemose form has been documented.

Establishing effective control and elimination measures for many illnesses depends heavily on community knowledge, attitudes, and practices (KAPs) [14]. With the right information, people are more likely to adopt prevention measures, such as treating tapeworm infections and adopting better sanitation, cleanliness, and improved pig-rearing techniques, that may reduce the feco-oral spread of numerous infectious diseases. Data from a KAP survey can be used to identify knowledge gaps, cultural norms, or behavioral patterns that could be problematic for understanding and taking action while also hindering efforts to manage or eradicate the disease. However, there is little KAP information about *Taenia solium* cysticercosis in Asian countries [15,16], especially Pakistan. As a result, the current study sought to assess KAPs regarding taeniasis in Pakistan. The findings can serve as the foundation for the creation of a contextualized health education package that can be used locally to manage or eradicate taeniasis.

2. Materials and Methods

2.1. Study Site

The study was conducted among the rural and urban populations of the cities of Rawalpindi and Islamabad in Pakistan. Islamabad is located at the northern edge of the Potohar plateau at an elevation of 540 m, and it has a population of 2.015 million, while Rawalpindi lies on the Potohar plateau 9 miles southwest of Islamabad and has a population of approximately 2.908 million. The cities are known as the "twin cities" of Pakistan [17].

2.2. Study Design

The study aimed to explore the knowledge, attitudes, and practices (KAP) related to taeniasis among the general population through a descriptive cross-sectional approach. To obtain the requisite information, a pre-validated questionnaire that adhered to standardized protocols was devised. This questionnaire was formulated after a comprehensive evaluation of an English language version. Subsequently, the survey was rendered into informal language to guarantee clarity and understanding for the respondents. The study placed significant emphasis on inclusivity, whereby individuals from a wide range of ethnicities, religions, genders, and geographical locations were considered eligible to participate in the study. The assessment of KAP was restricted to individuals aged between 10 and 70 years, thereby ensuring a targeted sample size that included both adolescent and adult participants. The study focused on providing an extensive understanding regarding the knowledge, attitudes, and practices concerning taeniasis among a representative cross-section of the general public using these selection criteria.

2.3. Sample Size Calculation

We used the Raosoft calculator [18], assuming a 95% CI with a 5% margin of error and Z of 1.96, to calculate the sample size. The estimated population of Rawalpindi is 2.908 million, and that of Islamabad is around 2.015 million, and the required sample size was 770.

2.4. Data Collection

Data were collected to assess the KAPs related to taeniasis. A structured questionnaire was used, and responses were collected through both an online survey and door-to-door interviews. A wide range of participants, including those who lived in both urban and rural areas, were approached using the online survey.

2.5. Questionnaire

We used a self-designed KAP questionnaire as the survey tool to collect data from residents. This questionnaire was prepared in English and divided into four sections. The first section comprised questions gathering socio-demographic information including age, gender, area, residence, income, occupation, education, and number of family members. The rest of the questionnaire comprised three sections of questions to assess knowledge (n = 28), attitudes (n = 10), and practices (n = 7) regarding taeniasis.

2.6. Data Analysis

A Microsoft Excel file was used for sorting and storage purposes, and SPSS 24.0 was used for the statistical analysis. Descriptive statistics were used to calculate answer frequency and percentages. The Chi-square test was used to examine the association between two categorical variables. Non-parametric tests were used for non-categorical variables (Mann–Whitney U test and Kruskal–Wallis test). The level of significance was set at 0.05.

3. Results

The KAP questionnaire was circulated among 800 individuals in Rawalpindi and Islamabad, and 770 responses with complete information were received and included in the analysis.

3.1. Demographic Characteristics of Participants

The study population comprised more women (n = 547, 71%) than men (n = 220, 28.6%). In terms of age, 51.9% (n = 400) of participants were between 20–30 years old (Figure 1). In terms of religion, most respondents were Muslim (96.1%, n = 740). As far as the distribution of the participants is concerned, the majority were from Punjab (n = 716) (Figure 2). Owing to the distribution of the questionnaire among students, most participants were recorded as undergraduate students (59.61%). The respondents were concentrated in urban areas (86.4%), and 31.6% (n = 243) had a monthly household income of 31,000–50,000 PKR. The most frequent family size was 4–5 members (43.2%, n = 333; Table 1).



Figure 1. Age distribution of the participants (N = 770).



Figure 2. Distribution of participants according to province (N = 765).

Variables	Scale	No (N)	Frequency (%)
	10 to 20	63	8.2
	20 to 30	400	51.9
4.00	30 to 40	235	30.5
Age	40 to 50	52	6.8
	50 to 60	16	2.1
	60 to 70	4	0.5
	Female	547	71.0
Gender	Male	220	28.6
	Not available	3	0.4
	Balochistan	6	0.7
	КР	19	2.46
Provinco	Punjab	716	92.9
riovince	Sindh	13	1.6
	Other	11	1.4
	Not available	5	0.6
	Islamabad	220	28.6
Decileure	Rawalpindi	505	65.6
Residence	Other	44	5.7
	Not available	1	0.1
	Employee	446	57.9
Chatric	Student	247	32.1
Status	Other	75	9.7
	Not available	2	0.3
	Christian	17	2.2
	Hindu	4	0.5
Religion	Muslim	740	96.1
	Other	4	0.5
	Not available	5	0.6
	Business	146	18.9
	Farmer	23	3.0
	Housewife	115	14.9
Occupation	Medical/paramedical staff	31	4.0
	Teacher	156	20.3
	Other	293	38.1
	Not available	6	0.8
	Elementary	27	3.5
	Secondary	42	5.5
Education	Higher secondary	237	30.8
	Graduation	459	59.61
	Not available	5	0.6

 Table 1. Socio-demographic characteristics of participants.

Variables	Scale	No (N)	Frequency (%)
	Rural	95	12.3
Area	Urban	665	86.4
	Not available	10	1.3
	10–30 k	83	10.8
	31–50 k	243	31.6
Income	51–70 k	210	27.3
	Above 70 k	196	25.5
	Not available	38	5.0
	2–3	78	10.1
	4–5	333	43.2
	6–7	261	33.9
Family Members	8–9	61	7.9
	10–11	19	2.5
	More than 11	15	1.9
	Not available	3	0.4

Table 1. Cont.

3.2. Knowledge of Participants about Taeniasis

A total of 28 questions assessed knowledge and its impact on taeniasis. The frequency and percentage of these participants showed that the largest percentage of people (44.4%) had little knowledge about the disease and its impact. In terms of diet, 49.6% (n = 382), of the participants cooked beef at home, and only a few of the respondents were nonvegetarian (6.4%, n = 49). Among the participants, 24.5% reported consuming uncooked meat, with the majority eating beef compared to pork (2.6%). Only 11.4% of respondents had seen proglottids in their feces. However, more respondents were aware of taeniasis as a diagnosis, and that tapeworm species causing taeniasis are normally found in meat (52.3%). They were also aware that transmission is linked to poor sanitation and consumption of infected beef and pork (Table 2).

Table 2. Knowledge of participants about taeniasis.

Variables	Scale	No (N)	Frequency (%)
	Yes	49	6.4
Are you non-vegetarian?	No	715	92.8
	Not available	6	0.8
	Home	595	77.3
	Restaurants	57	7.4
Type of current food availabile	Fast food	54	7.0
	Vendors/stalls	63	8.2
	Not available	1	0.1
	Yes	282	36.6
Do you choose to eat food outside more?	No	485	63.0
	Not available	3	0.4

Table 2. Cont.			
Variables	Scale	No (N)	Frequency (%)
	Yes	189	24.5
Have you ever eaten uncooked meat?	No	241	31.3
Have you ever eaten uncooked meat?	Maybe	338	43.9
	Not available	2	0.2
	Yes	123	16.0
Do you own livestock?	No	632	82.1
	Not available	15	1.9
	Yes	382	49.6
Do you cook beef at home?	No	383	49.7
—	Not available	5	0.6
	Yes	20	2.6
 Do you eat pork?	No	727	94.4
—	Not available	23	3.0
	Yes	198	25.7
_	No	263	34.2
Do you know about zoonotic disease? —	Maybe	306	39.7
—	Not available	3	0.4
	Yes	146	19.0
Have you ever been infected with taeniasis disease?	No	618	80.3
	Maybe	6	0.8
	Yes	141	18.3
Have any of your family members been diagnosed with this disease?	No	300	39.0
	Not sure	329	42.7
	Yes	240	31.2
	No	212	27.5
Do you know eating undercooked food can cause disease in humans? —	Maybe	317	41.2
—	Not available	1	0.1
	Yes	170	22.1
_	No	254	33.0
Do you know about taeniasis disease?	Maybe	342	44.4
—	Not available	4	0.5
	Yes	194	25.2
If yes, do you know about the symptoms?	No	569	73.9
—	Not available	7	0.9
	Yes	263	34.2
Do you know this disease is caused by eating raw/undercooked food?	No	499	64.8
—	Not available	8	1.0
	Bacterial	83	10.8
Taeniasis is a infection?	Parasitic	369	47.9
—	Viral	178	23.1

Table 2. Cont.			
Variables	Scale	No (N)	Frequency (%)
	Other	139	18.1
	Not available	1	0.1
	Yes	88	11.4
Have you ever seen noodle-like proglottids in feces?	No	588	76.4
	Not available	94	12.2
	Eggs	178	23.1
	Meat	403	52.3
Tapeworm species causing taeniasis are normally found where?	Vegetables	26	3.4
	Not sure	162	21.0
	Not available	1	0.1
	Consumption of infected beef and pork	213	27.7
Transmission of tapeworm species of taeniasis is linked with what?	Poor sanitation	106	13.8
	Both	449	58.3
	Not available	2	0.3
	Both	445	57.8
	Cattle	132	17.1
The intermediate hosts of taeniasis are what?	Pig	190	24.7
	Not available	3	0.4
	Direct microscopy of expelled eggs in feces	380	49.4
How can taeniasis be diagnosed?	Blood test	177	23.0
0	Not sure	210	27.3
	Not available	3	0.4
	Eating raw/ undercooked meat	478	62.4
Humans can become infected with species causing taeniasis by what?	Eating raw/ undercooked vegetables	42	5.5
	Poor sanitation	132	17.2
	Not sure	114	14.9
	Abdominal pain	95	12.3
	Loss of appetite	71	9.2
Infection from taneworm species of taeniasis may cause what?	Loss of weight	45	5.8
intection nom tapeworm species of taemasis may cause what:	Upset stomach	69	9.0
	All of above	446	57.9
	None of above	44	5.7
	Yes	258	33.5
If one person has taeniasis, can this be passed on to other people in	No	126	16.3
the family?	Not sure	380	49.3
	Not available	6	0.8

Variables	Scala	No (N)	Eroquonau (%)
valiables	Correct cooking	145	18.8
		145	10.0
Meat hygiene can be achieved through what? —	Proper inspection of meat	174	22.6
Meat hygiene can be achieved through what:	All of above	314	40.8
	Not sure	133	17.3
	Not available	4	0.5
	Drugs	164	21.3
	Surgery	111	14.4
Which of the following is the effective treatment of the disease?	Depends on the severity of the infection	304	39.5
	Not sure	188	24.4
	Not available	3	0.4
	Less than 1 year	403	52.3
	2–3 years	78	10.1
How long does taeniasis last?	3–4 years	47	6.1
	Not available	139	31.0
	Not sure	3	0.4
	Yes	479	62.2
Do you know that people with this disease may remain asymptomatic	No	283	36.8
for many years.	Not available	8	1.0

Table 2. Cont.

3.3. Attitudes of Participants towards Taeniasis

Respondents reported specific attitudes toward the prevention of taeniasis. The inclination was toward avoiding eating raw, undercooked, or unhygienically prepared meat. Positive attitudes regarding awareness and prevention of disease were observed. Most respondents were willing to participate in campaigns (69.1%) and provide blood or feces samples (67.1%) as part of efforts to eliminate the disease. A large percentage of respondents understood that cattle and pigs should be vaccinated (66.5%), and that there should be proper disposal of animal waste other than open defecation. A need for community-level programs to ensure meat inspection was expressed by 61.3% of the participants, and 66.9% showed a willingness to check the internal temperature of food if awareness was raised and thermometers were introduced (Table 3).

Table 3. The attitude of participants towards taeniasis.

Variables	Scale	No (N)	Frequency (%)
	Yes	434	56.4
Do you think you might become infected with this disease by eating unhygienic, raw, or undercooked meat?	No	106	13.8
	Maybe	229	29.7
	Not available	1	0.1
	Yes	587	76.2
Do you think there should be campaigns and programs on awareness	No	83	10.8
and control of this disease?	Not sure	99	12.9
	Not available	1	0.1

Variables	Scale	No (N)	Frequency (%)	
	Yes	550	71.4	
	No	78	10.1	
Is there a need for proper treatment facilities for this disease?	Maybe	139	18.1	
	ScaleNo (N)FrequencyYes 550 71.4 No78 10.1 Maybe 139 18.1 Not available 3 0.4 Pase)Yes 512 66.5 No 85 11.0 Maybe 171 22.2 Not available 2 0.3 PredYes 515 67.1 Not available 2 0.3 PredNo 251 32.6 Not available 2 0.3 PredNo 88 11.4 Maybe 142 18.4 Not available 5 0.6 PernalNo 91 11.8 Maybe 161 20.9 Not available 3 0.4 Ensuring meat inspection 472 61.3 Banning the use of 171 22.6			
	Yes	512	66.5	
Do you think cattle and pigs (the intermediate hosts of this disease)	No	85	11.0	
should be vaccinated?	Maybe	171	22.2	
	Not available	2	0.3	
	Yes	515	67.1	
If there was a mass screening program for taeniasis that involved	No	251	32.6	
providing stoor and blood samples, would you participate.	Not available	2	0.3	
	Yes	535	69.5	
If there were a community-based intervention program to eliminate	No	88	11.4	
taeniasis, would you participate?	Maybe	142	18.4	
	Not available	5	0.6	
	Yes	515	66.9	
If you were asked to use a food thermometer to measure the internal	No	91	11.8	
temperature of cooked food, would you do so?	Maybe	161	20.9	
	Not available	0.4		
	Ensuring meat inspection	472	61.3	
At the community level, what can be done to provent transmission	Banning the use of 174 all meats		22.6	
of disease?	Banning cultivation of vegetables	36	4.7	
	Not sure	87	11.3	
	Not available	1	0.1	
	Yes	539	70.0	
If you were asked to participate in providing a feces sample to aid in disease prevention, would you participate?	No	108	14.0	
	Maybe 123			
	Maybe 123 Yes 589 No 58			
Do you think there should be proper disposal of animal waste other	No	58	7.5	
than open defecation?	Maybe	118	15.3	
	Not available	5	0.6	

Table 3. Cont.

3.4. Practices of Participants about Taeniasis

A significant proportion of the 770 respondents washed their hands before and after preparing food and washed meat properly before cooking. The majority kept raw meat separated from clean utensils (81.6%) and checked the internal temperature of the meat when it was cooking (75.1%). About 90% of the study population reported washing their hands after defecation. However, 70% ate food from stalls/vendors (Table 4).

Variables	Scale	No (N)	Frequency (%)
	Yes	227	29.5
Do you wash your hands before and after preparing food?	No	401	52.1
	Maybe	142	18.4
	Yes	700	90.9
Do you wash meat properly before cooking it?	No	69	9.0
	Not available	1	0.1
	Yes	628	81.6
	No	70	9.1
Do you keep raw meat separated from clean diensits of ready-to-eat tood?	Maybe	71	9.2
	Not available	1	0.1
	Yes	539	70.0
Do you eat food from stalls/vendors or at restaurants?	No	230	29.9
	Not available	1	0.1
	Yes	687	89.2
Do you wash your hands with soap after defecation?	No	80	10.4
	Not available	3	0.4
	Yes	578	75.1
Do you check the internal temperature of the meat when cooking to ensure it is	No	183	23.8
	Not available	9	1.2

Table 4. Practices of participants regarding taeniasis.

3.5. Association between Knowledge and Socio-Demographic Characteristics of Participants

We used the independent variables of gender, age, province, residence, occupation, education, area, annual income, and knowledge as dependent variables. We applied binomial logistic regression to the independent variables with the dependent variables and obtained *p* values and odds ratios (ORs). In terms of the associations between knowledge and socio-demography, we observed a significant association between knowledge and having a family size of eight to nine members (*p* < 0.05; OR 0.782), as compared to two to three family members. Variables such as age, gender, province, residence, area, religion, and income were not significantly related to knowledge (i.e., *p* > 0.05). ORs and 95% confidence intervals are shown in Table 5.

3.6. Association between Attitudes and Socio-Demographic Characteristics of Participants

Using regression testing as part of our statistical analysis, we determined significant associations between knowledge and age, especially in the 20–30 years (p < 0.05; OR 0.574) and 30–40 years (p < 0.05; OR 0.553) age groups. We also found a significant relationship between knowledge and being a resident in Rawalpindi (p < 0.05; OR 0.68) and other cities (p < 0.05; OR 2.43), except Islamabad. At the same time, a significant association was seen between attitude and being neither employed nor a student (p < 0.05; OR 2.761). Statistical analysis of income showed that income ranges from 31,000–50,000 PKR (p < 0.05; OR 0.42) were significantly related to attitude, as compared to income ranging from 10,000 to 30,000 PKR (Table 6).

3.7. Association between Practices and Socio-Demographic Characteristics of Participants

Statistical analysis of associations between practices and socio-demographic variables indicated that living in an urban area and income level were significant. Income of more than 70,000 Pkr (p < 0.05; OR 0.87) and living in an urban area (p < 0.05; OR 0.616), as compared to rural areas, were significantly related to practices (Table 7).

		Know	ledge					Odds Ratio	D ²
Variables	Category	Good	Poor	Estimate	SE	Z-Value	<i>p</i> -Value	(95% CI)	R ² mcf
	10 to 20 (Base)	38	25	-	-	-	-	-	
	20 to 30	226	174	0.1527	0.277	0.569	0.570	1.170 (-0.385-0.6993)	
Age	30 to 40	140	95	0.0309	0.290	0.107	0.915	1.031 (-0.537-0.5989)	0.00247
0	40 to 50	33	19	-0.1334	0.386	-0.345	0.730	0.875 (-0.891-0.6238)	0.000
-	50 to 60	11	5	-0.3697	0.598	-0.619	0.536	0.691 (-1.541-0.8017)	
-	60 to 70	3	1	-0.6799	1.183	-0.575	0.565	0.507 (-2.999-1.6389)	
Gender	Female (Base)	325	222	-	-	-	-	-	0.00065
	Male	124	96	0.125	0.1614	0.776	0.438	1.133 (-0.191-0.442)	
-	Not available	2	1	-0.312	1.2278	-0.254	0.799	0.732 (-2.719-2.095)	
	Balochistan (Base)	2	4	-	-	-	-	-	-
-	КР	5	14	0.336	1.011	0.333	0.739	1.400 (-1.64-2.317)	
Province	Punjab	424	292	-1.066	0.869	-1.226	0.220	0.344 (-2.77-0.638)	0.0111
	Sindh	9	4	-1.504	1.054	-1.427	0.154	0.222 (-3.57-0.562)	0.0111
-	Other	7	4	-1.253	-3.35	-1.172	0.241	0.286 (-3.35-0.843)	
-	Not available	4	1	-2.079	1.414	-1.470	0.141	0.125 (-4.85-0.692)	
	Islamabad (Base)	135	85	-	-	-	-	-	
Residence	Rawalpindi	283	222	0.220	0.165	1.3328	0.183	1.246 (-0.103-0.543)	0.00663
_	Other	32	12	-0.518	0.366	-1.4169	0.157	0.596 (-1.235-0.199)	
-	Not available	1	0	-13.103	535.411	-0.0245	0.980	0.0000020 (-1062.490-1036.283)	

Table 5. Associations between knowledge and socio-demographic characteristics of participants.

Table 5. Cont.

	<u>Colorado</u>	Know	vledge		07		X7 1	Odds Ratio	D2
Variables	Category	Good	Poor	Estimate	SE	Z-Value	<i>p</i> -value	(95% CI)	K ⁻ mcf
	Employee (Base)	253	193	-	-	-	-	-	
Status	Student	152	95	-0.1993	0.1620	-1.2304	0.219	0.819 (-0.517-0.1182)	0.00351
	Other	44	31	-0.0795	0.2532	-0.3140	0.754	0.924 (-0.576-0.4168)	
	Not available	2	0	-13.2594	378.5929	-0.0351	0.972	0.0000068 (-0.755.324-728.7330)	
	Christian (Base)	14	3	-	-	-	-	-	
	Hindu	3	1	0.442	1.318	0.335	0.738	1.556 (-2.1421-3.026)	
Religion	Muslim	430	310	1.213	0.641	1.894	0.058	3.364 (-0.0422-2.469)	0.00653
	Other	1	3	1.639	1.318	2.002	0.055	14.00 (0.0551–5.223)	
	Not available	3	2	1.135	1.113	1.020	0.308	3.111 (-1.0459-3.316)	
	Business (Base)	93	53	-	-	-	-	-	-
	Farmer	15	8	-0.0663	0.470	-0.141	0.888	0.936 (-0.9883-0.856)	
	Housewife	70	45	0.1205	0.257	0.468	0.639	1.128 (-0.3835-0.624)	
Occupation	Medical/paramedical Staff	19	12	0.1028	0.407	0.253	0.801	1.108 (-0.6948-0.900)	0.00570
	Teacher	88	68	0.3045	0.236	1.290	0.197	1.356 (-0.1580-0.767)	
	Other	161	132	0.3637	0.208	1.746	0.081	1.439 (-0.0446-0.772)	
	Not available	5	1	-1.0471	1.109	-0.944	0.345	0.351 (-3.2205-1.126)	
	Elementary (Base)	19	8	-	-	-	-	-	
Education	Secondary	25	17	0.479	0.526	0.912	0.362	1.583 (-1.5111-2.4032)	0.00529
	Higher Secondary	135	102	0.585	0.441	1.325	0.185	1.794 (-0.2805-1.4498)	
	Graduation	232	151	0.436	0.434	1.003	0.316	1.546 (0.4156–1.2866)	

Table 5. Cont.

	<u>Calaran</u>	Knowledge			0.7			Odds Ratio	D2
Variables	Category	Good	Poor	Estimate	SE	Z-Value	<i>p</i> -value	(95% CI)	K ⁻ mcf
	Not available	3	2	0.460	1.005	0.457	0.648	1.583 (-1.5111-2.4032)	
	Rural (Base)	48	47	-	-	-	-	-	
Area	Urban	395	270	-0.3594	0.220	-1.635	0.102	0.698 (-0.790-0.0715)	0.00456
	Not available	8	2	-1.3652	0.817	-1.672	0.095	0.255 (-0.790-0.0715)	
	10,000–30,000 (Base)	44	39	-	-	-	-	-	
	31,000–50,000	158	85	-0.4993	0.258	-1.937	0.053	0.607 (-1.005-0.00597)	
Income	51,000–70,000	126	84	-0.2848	0.261	-1.091	0.275	0.752 (-0.797-0.22705)	0.0106
	Above 70,000	100	96	0.0798	0.262	0.304	0.761	1.083 (-0.434-0.59384)	
	Not available	2	3	0.5261	0.939	0.560	0.575	1.692 (-1.314-2.36648)	
	2 to 3 (Base)	54	24	-	-	-	-	-	
	4 to 5	195	138	0.465	0.269	1.727	0.084	1.592 (-0.0628-0.993)	
Family	6 to 7	151	110	0.494	0.275	1.794	0.073	1.639 (-0.0458-1.034)	
members	8 to 9	30	31	0.844	0.335	2.379	0.017	2.325 (0.1486–1.539)	- 0.00716
	10 to 11	10	9	0.706	0.521	1.355	0.176	2.025	
	More than 11	10	5	0.118	0.600	0.196	0.844	1.125 (-1.0585-1.294)	
	Not available	1	2	1.504	1.249	1.204	0.229	4.500 (-0.9441-3.952)	

		Know	ledge		SE	Z-Value	<i>p</i> -Value		R^2_{McF}
Variables	Category	Good	Poor	Estimate				Odds Ratio (95% CI)	
	10 to 20 (Base)	32	31	-	-	-	-	-	- - 0.00619
-	20 to 30	257	143	-0.5545	0.273	-2.033	0.042	0.574 (-1.089-(-0.0199))	
Age	30 to 40	153	82	-0.5920	0.287	-2.064	0.039	0.553 (-1.154-(-0.0299))	
0	40 to 50	29	23	-0.2001	0.376	-0.532	0.595	0.819 (-0.937-0.5371)	
-	50 to 60	9	7	-0.2196	0.563	-0.390	0.697	0.803 (-1.324-0.8848)	-
-	60 to 70	3	1	-1.0669	1.182	-0.903	0.367	0.344 (-3.383-1.2496)	
	Female (Base)	347	200	-	-	-	-	-	0.00601
Gender	Male	136	84	0.0692	0.1647	0.4199	0.675	1.072 (-0.254-0.392)	
-	Not available	0	3	15.1171	509.6521	0.0297	0.976	3.68 (-983.783-1014.017)	
	Balochistan (Base)	5	1	-	-	-	-	-	0.00533
Province	КР	13	6	0.836	1.20	0.696	0.486	2.308 (-1.519-3.191)	
-	Punjab	452	264	1.072	1.10	0.976	0.329	2.920 (-1.081-3.224)	
-	Sindh	6	7	1.764	1.23	1.435	0.151	5.833 (-0.644-4.172)	
	Other	5	6	1.792	1.25	1.432	0.152	6.000 (-0.661-4.245)	
	Not available	2	3	2.015	1.43	1.413	0.158	7.500 (-0.780-4.810)	
	Islamabad (Base)	128	92	-	-	-	-	-	0.0203
Residence	Rawalpindi	339	166	-0.384	0.166	-2.3077	0.021	0.681 (0.710-	
_	Other	16	28	0.890	0.342	2.6027	0.009	2.435 (0.220-1.5600)	
=	Not available	0	1	13.896	535.411	0.0260	0.979	1,080,000 (-1035.490-1063.2829)	

Table 6. Associations between attitude and socio-demographic characteristics of participants.

Table 6. Cont.

** • • • •	Coloren	Know	ledge		67	Z-Value		Odds Ratio (95% CI)	R ² _{McF}
Variables	Category	Good	Poor	Estimate	SE		<i>p</i> -Value		
	Employee (Base)	300	146	-	-	-	-	-	
Status	Student	149	98	0.301	0.165	1.8297	0.067	1.351 (-0.0214-0.624)	0.0185
	Other	32	43	1.016	0.254	3.9932	< 0.001	2.761 (0.5171–1.514)	
	Not available	2	0	-12.846	378.593	-0.0339	0.973	0.00000265 (754.8743–729.183)	
	Christian (Base)	7	10	-	-	-	-	-	
	Hindu	1	3	0.7419	1.225	0.5910	0.555	2.100 (-1.719-3.2026)	0.00920
Religion	Muslim	472	268	-0.9227	0.499	-1.8501	0.064	0.397 (-1.900-0.0548)	
	Not available	2	3	0.0488	1.037	0.0470	0.962	1.050 (-1.984-2.0820)	
	Other	1	3	0.7419	1.255	0.5910	0.555	2.100 (-1.719-3.2026)	
	Business (Base)	88	58	-	-	-	-	-	0.0179
	Farmer	10	13	0.6793	0.453	1.4983	0.134	1.972 (-0.209-1.5678)	
	Housewife	65	50	0.1545	0.253	0.6109	0.541	1.167 (-0.341-0.6503)	
Occupation	Medical/paramedical Staff	20	11	-0.1809	0.412	-0.4395	0.660	0.834 (-0.988-0.6260)	
	Other	203	90	-0.3965	0.211	-1.8766	0.061	0.673 (-0.811-0.0176)	
	Teacher	91	65	0.0804	0.234	0.3430	0.732	1.084 (-0.379-0.5400)	
	Not available	6	0	-14.1492	360.379	-0.0393	0.969	0.00000071 (-720.478-692.1797)	
	Elementary (Base)	13	14	-	-	-	-	-	
	Secondary	20	22	0.0212	0.494	0.0429	0.966	0.966 (-0.947-0.98897)	0.0165
Education	Higher Secondary	138	99	-0.4062	0.407	-0.9980	0.318	0.666 (-1.204-0.39158)	
	Graduation	254	129	-0.7516	0.400	-1.8788	0.060	0.472 (-1.536-0.03246)	
	Not available	5	0	-14.6402	394.775	-0.0371	0.970	0.00000043 (-788.385-759.110466)	

Table 6. Cont.

	Calassi	Know	ledge		SE	Z-Value	<i>p</i> -Value	Odds Ratio (95% CI)	D ²
Variables	Category	Good	Poor	Estimate					R ² _{McF}
	Rural (Base)	57	38	-	-	-	-	-	
Area	Urban	419	246	-0.127	0.224	-0.567	0.571	0.881 (-0.567-0.31255)	$-5.6 imes 10^{-4}$
	Not available	7	3	-0.442	0.721	-0.613	0.540	0.643 (-1.855-0.97158)	_
	10–30 k (Base)	41	42	-	-	-	-		0.0173
	31–50 k	153	90	-0.5547	0.257	-2.162	0.031	0.574 (-1.058-(-1.058))	
Income	51–70 k	136	74	-0.6327	0.263	-2.407	0.016	0.531 (-1.148-(-0.1176))	
	Above 70 k	137	59	-0.8665	0.269	-3.219	0.001	0.420 (-1.394-(-0.3390))	
	Not available	2	3	0.3814	0.939	0.406	0.685	1.464 (-1.459-2.2216)	
	2 to 3 (Base)	40	38	-	-	-	-	-	 0.0121
	4 to 5	214	119	-0.5356	0.254	-2.1105	0.035	0.585 (-1.033-(-0.0382))	
Family	6 to 7	174	87	-0.6419	0.262	-2.4514	0.014	0.526 (-1.155-0.1287)	
members	8 to 9	35	26	-0.2460	0.344	-0.7150	0.475	0.782 (-0.920-0.4283)	
	10 to 11	9	10	0.1567	0.512	0.3058	0.760	1.170 (-0.847-1.1607)	
	More than 11	8	7	-0.0822	0.565	-0.1456	0.884	0.921 (-1.190-1.0251)	
	Not available	3	0	-14.5148	509.652	-0.0285	0.977	0.00000049 (-1013.415-984.3851)	

** * 1 *	California	Know	ledge		67				D ²
Variables	Category	Good	Poor	Estimate	SE	Z-Value	<i>p</i> -value	Odds Ratio (95% CI)	R^2_{McF}
	10 to 20 (Base)	34	29	-	-	-	-	-	_
-	20 to 30	217	183	-0.1591	0.272	-0.0417	0.967	0.989 (-0.544-0.522)	
Age	30 to 40	137	98	-0.1759	0.285	-0.6167	0.537	0.839 (-0.735-0.383)	0.00399
	40 to 50	29	23	-0.0727	0.377	-0.1931	0.847	0.930 (-0.811-0.665)	
-	50 to 60	12	4	-0.9395	0.630	-1.4907	0.136	0.391 (-2.175-0.296)	
-	60 to 70	3	1	-0.9395	1.182	-0.7949	0.427	0.391 (-3.256-1.377)	
	Female (Base)	303	244	-	-	-	-	-	0.00107
Gender	Male	128	92	-0.114	0.1615	-0.704	0.481	0.893 (-0.430-0.2028)	
-	Not available	1	2	0.910	3.3161	0.741	0.459	2.484 (-1.497-3.3161)	
	Balochistan (Base)	2	4	-	-	-	-	-	0.00593
-	KP	6	13	0.0800	0.997	0.0803	0.936	1.083 (-1.87-2.034)	
Province	Punjab	407	309	-0.9686	0.869	-1.1142	0.265	0.380 (-2.67-0.735)	
	Sindh	8	5122	-1.1632	1.037	-1.1218	0.262	0.313 (-3.20-0.869)	
-	Other	6	5	-0.8755	1.258	-0.8285	0.407	0.417 (-2.95-1.196)	
-	Not available	3	2	-1.0986	1.258	-0.8731	0.383	0.333 (-3.56-1.368)	
	Islamabad (Base)	122	98	-	-	-	-	-	0.00169
Residence	Rawalpindi	286	219	-0.0479	0.163	-0.2942	0.769	0.953 (-0.367-0.2710)	
_	Other	24	20	0.0367	0.332	0.1107	0.912	1.037 (-0.614-0.6870)	
-	Not available	0	1	13.7851	535.411	0.0257	0.979		

 Table 7. Association between practices and socio-demographic characteristics of participants.

Table 7. Cont.

	Calvasar	Know	vledge		SE	Z-Value	<i>p</i> -Value	Odds Ratio (95% CI)	R ² _{McF}
Variables	Category	Good	Poor	Estimate					
	Employee (Base)	257	189	-	-	-	-	-	0.00450
Status	Student	137	110	0.0878	0.1599	0.5492	0.583	1.092 (-0.226-0.401)	
	Other	36	39	0.3874	0.2502	1.5482	0.122	1.473 (-0.103-0.878)	
	Not available	2	0	-13.2587	378.5929	-0.0350	0.972	0.0000175e (755.287–728.770)	<u>-</u>
	Christian (Base)	11	6	-	-	-	-	-	 0.00829
	Hindu	1	3	1.705	1.261	1.3516	0.177	5.500 (-0.767-4.177)	
Religion	Muslim	417	323	0.351	0.513	0.6838	0.494	1.420 (-0.655-1.356)	
	Other	0	4	15.172	441.372	0.0344	0.973	3,880,000 (-84.901-880.245)	
	Not available	3	2	0.201	1.044	0.1921	0.848	1.222 (-1.846-2.248)	
	Business (Base)	89	57	-	-	-	-	-	0.0119
	Farmer	15	8	-0.183	0.470	-0.3898	0.697	0.833 (-1.1033-0.737)	
	Housewife	63	52	0.254	0.253	1.0037	0.316	1.289 (-0.2417-0.79)	
Occupation	Medical/paramedical Staff	20	11	-0.152	0.412	-0.3696	0.712	0.859 (-0.9596-0.655)	
	Teacher	88	68	0.189	0.234	0.8017	0.423	1.207 (-0.2713-0.647)	
	Other	151	142	0.384	0.206	1.8645	0.062	1.468 (-0.0197-0.788)	0.00597
	Not available	6	0	-14.120	360.37	-0.0392	0.969	0.000073 (-720.4494-692.208)	
	Elementary (Base)	17	10	-	-	-	-	-	0.00701
Education	Secondary	19	23	0.722	0.505	1.429	0.153	2.058 (-0.268-1.711)	
Laucaton	Higher Secondary	126	111	0.404	0.419	0.963	0.335	1.498 (-0.418-1.226)	
	Graduation	226	157	0.166	0.412	0.404	0.686	1.181 (-0.641-0.974)	

Table 7. Cont.

Variables	Category	Knowledge					37.1		~ ?
		Good	Poor	Estimate	SE	Z-Value	<i>p</i> -value	Odds Ratio (95% CI)	R^2_{McF}
	Other	40	36	0.425	0.460	0.924	0.355	1.530 (-0.476-1.327)	
	Not available	4	1	-0.856	1.187	-0.721	0.471	0.425 (-3.182-1.471)	-
	Rural (Base)	43	52	-	-	-	-	-	
Area	Urban	381	284	-0.484	0.221	-2.194	0.028	0.616 (-0.916-(-0.0516))	0.00538
	Not available	8	2	-1.576	0.817	-1.929	0.054	0.207 (-3.178-0.0249)	
	10–30 k (Base)	42	47	-	-	-	-	-	0.00538
	31–50 k	146	97	-0.3848	0.256	-1.505	0.132	0.681 (-0.886-0.116)	
Income	51–70 k	118	92	-0.2248	0.260	-0.865	0.387	0.799 (-0.734-0.285)	
	Above 70 k	106	90	-0.1395	0.262	-0.532	-0.595	0.870 (-0.653-0.374)	
	Not available	1	4	1.4104	1.139	1.238	0.216	4.098 (-0.823-3.644)	
	2 to 3 (Base)	47	31	-	-	-	-	-	-
	4 to 5	189	144	0.144	0.256	0.5624	0.574	1.155 (-0.358-0.6469)	
Farra :1	6 to 7	147	114	0.162	0.263	0.6160	0.538	1.176 (-0.353-0.6772)	-
members	8 to 9	30	31	0.449	0.345	1.3008	0.193	1.567 (-0.228-1.1254)	0.00644
	10 to 11	8	11	0.735	0.519	1.4152	0.157	2.085 (-0.283-1.7520)	
	More than 11	8	7	0.283	0.567	0.4985	0.618	1.327 (-0.829-1.3938)	-
	Not available	3	0	-14.150	509.652	-0.0278	0.978	0.00000071 (-1013.050-984.7500)	-

4. Discussion

Taeniasis is widespread in East, Southeast, and South Asia across the region's rich diversity of cultural, traditional, and behavioral norms [19,20]. Many studies have discussed the prevalence of soil-transmitted helminths and other underdiagnosed tropical diseases [21–23], but the three co-occurring human Taenia species have rarely been investigated in depth. It is unclear how widespread the problem is in East, Southeast, and South Asia, and incidence rates reported by the various countries and territories vary considerably [5,24,25]. The significant findings on KAPs relating to taeniasis in these countries, however, point to issues with sanitation at an individual, household, and community level. Cysticercosis can be prevented and controlled through better sanitation and health education, the application of food safety precautions, and the use of improved and standardized diagnostic tests, as well as through the reporting of infections at the species level [26]. The holistic approach known as "One Health" can be used to apply these methods, and this approach considers the well-being of humans, animals, and the planet. Most intestinal infections are asymptomatic. Symptoms are often modest and may include stomach discomfort, anorexia, weight loss, or malaise. Cysticercosis has a widespread impact on several essential organs (e.g., brain, eye, heart); however, it has a low death rate, and death is usually caused by complications such as encephalitis, increased intracranial pressure due to edema and/or hydrocephalus, or stroke. The infection affects people of all ages, sexes, and races equally [27].

4.1. Socio-Demographic Characteristics

In our study assessing KAPs regarding taeniasis, which is the first of its kind in Pakistan, we sought to describe the socio-demographic factors of the study population, including gender, education, residency marital status, age, and income. As the questionnaire was circulated among students, most of the participants were unemployed and between 20-30 years of age. The major concentration of respondents was in urban areas, and most respondents had a monthly household income of 31,000-50,000 PKR. A similar cross-sectional study was conducted in Punjab, India, comprising a survey questionnaire related to zoonotic diseases that was distributed to 859 participants. The majority were male farmers [28]. In another study, a structured questionnaire was circulated to collect socio-demographic variables and information on knowledge and attitudes regarding taeniasis/cysticercosis, raw meat consumption, latrine usage, and taeniasis treatment practices in two small towns in Ethiopia. The majority of the 195 participants were also male [29]. Food safety KAPs among 772 elementary schoolchildren were surveyed in southern Taiwan, with mostly female respondents [30]. In another cross-sectional study that was conducted in Ibadan, Nigeria, most of the participants were male [31]. In a KAP analysis relating to taeniasis disease that was conducted in South Africa, most participants were male and had only primary school education, with some having obtained secondary education [32]. A similar cross-sectional study conducted in Tanzania related to taeniasis also had mostly male respondents [33].

4.2. Knowledge

Our study assessed the basic knowledge of participants about the cause of the disease and the parasite's intermediate host. One study related to taeniasis that was conducted in Tanzania demonstrated knowledge about cysticercosis, particularly among cattle and pig keepers. Many participants had heard about tapeworm (*T. solium* taeniasis), and their knowledge of the signs and symptoms of the disease was good. Although most of the participants knew about epilepsy, none knew about the relationship or link between cysticercosis and epileptic seizures [34]. In another study conducted on farmer awareness and practices regarding taeniasis with 294 participants, only a small number knew about taeniasis disease [35]. The cross-sectional study conducted in small towns in Ethiopia demonstrated that meat industry workers and a large number of community members in both study areas had heard of human taeniasis [36]. Respondents purchasing pork from home slaughter were about four times less likely to demonstrate good knowledge in a study conducted in Nigeria [37]. In the KAP analysis conducted in South Africa, half of the respondents indicated no knowledge of cysticercosis in pigs, and the majority had never heard of NCC [37]. In a KAP study in Tanzania, the average number of respondents had heard of the pork tapeworm (*T. solium* taeniasis), and many (n = 163, 65%) were familiar with the signs and symptoms of the infection. However, only a few participants had accurate knowledge of the mode of transmission. Only a small number of respondents reported transmission through improperly cooked pork, and many participants falsely cited contaminated water [38].

4.3. Attitudes

In terms of attitudes toward the prevention of taeniasis disease, the inclination of many respondents was towards avoiding eating raw, undercooked, or unhygienically prepared meat. Positive attitudes towards awareness and prevention of disease in the community were observed. Most of the respondents were willing to participate in campaigns and provide blood and feces samples as part of efforts to eliminate it. Our results on respondents' attitudes to taeniasis disease treatment, prevention, control, and the advantage of vaccination were consistent with a similar study conducted in Ethiopia [31]. A study performed in India found that the attitude of respondents towards disease control possibilities was better in those educated at college and university level when compared to illiterate people (p < 0.05) [39]; however, illiterate people were not included in our study. In contrast, the attitude towards the low-risk perception of cysticercosis is indicative of a positive trend in the Tanzanian study on taeniasis [16]. In the Taiwanese KAP analysis related to food safety, the attitude among students was not quite positive [15]. However, in a cross-sectional study conducted on smallholder farms in South Africa, results on the attitudes of individuals were not encouraging, and the community appeared to need more awareness [37]. Communities that are in underdeveloped countries with low literacy rates or are located in peripheral areas need improved understanding and greater awareness of taeniasis through awareness campaigns.

4.4. Practices

Most of the participants in our study were practicing hygiene by washing their hands before and after cooking food. The same study was conducted in Swat, Pakistan, and most of the surveyed population kept raw meat separated from clean utensils and checked the internal temperature of the meat. Public education to improve hygiene practices, curb risky culinary habits, promote taeniasis treatment, and discourage backyard slaughtering were suggested in a study conducted in small towns in Ethiopia [38]. Only hand washing before eating was significantly promoted in the practice domain (p < 0.001) in the study that was carried out relating to food safety in southern Taiwan [39,40], and poor practices were observed related to taeniasis in the KAP survey that was conducted in Nigeria. The majority of farmers in South Africa practiced a free-ranging system, as reported in some taeniasis studies, while a small number practiced a semi-intensive system [40,41].

5. Conclusions

KAPs have an enormous impact on the control of communicable diseases and in informing suitable policies. Owing to a lack of focus on awareness campaigns among the general population, many people are unaware of taeniasis. Our results demonstrated the importance of awareness of handling animals, keeping animals as pets, consuming raw meat, and handling infected animals. Respondents with lower educational levels and those who owned livestock had higher contact with animals but tended to consume more raw meat, not have pre-exposure vaccinations, and not take immediate action with infected animals. This study offers important new information about KAPs associated with taeniasis in the general population. The results show the need for focused education and awareness campaigns, especially among particular age groups and geographic areas. Taeniasis prevention initiatives should be tailored to the various professional and educational backgrounds of those involved. The study's findings advance knowledge of taeniasis' KAPs and can direct public health initiatives aimed at lessening the burden of this parasitic infection. In conclusion, populations with lower educational standing should be offered awareness and training programs on the transmission, treatment, prevention, and management of taeniasis, and related information. Additionally, strengthening intersectoral collaboration for the prevention and control of common zoonotic diseases is important.

While the focus of our research was to provide insights into the current state of knowledge and practice, we recognize the importance of conducting extensive research to produce significant results. Understanding the pathogenesis of taeniasis, identifying novel diagnostic techniques, and comparing the efficacy of various treatment options are all possible outcomes of intensive research. These areas of intensive research contribute to the advancement of disease knowledge, the improvement of diagnostic accuracy, and the development of more targeted and effective treatments.

6. Limitations

The research has utilized self-reported information, which is susceptible to both recall bias and social desirability bias. The reliability of data on participants' knowledge, attitudes, and practices related to taeniasis may have been compromised by memory and reporting biases, which could have introduced some degree of error. The responses provided by the participants were influenced by social desirability bias, resulting in an overestimation of their knowledge, positive attitudes, or healthy practices about taeniasis. The presence of bias has the potential to compromise the precision and validity of the results. As the research utilized cross-sectional data gathering, it did not account for the evolution of knowledge, attitudes, and practices over a period. Adopting a longitudinal approach would yield a more all-encompassing comprehension of the aforementioned factors.

Author Contributions: S.B. and M.K.: Conceptualization, Data curation, Writing, Methodology; N.A.S.: Original draft, Supervision; K.B. and S.K.U.H.N.: Proofreading; Q.Z.: Writing, Review and editing; H.A. and J.C.: Review and editing: Visualization. All authors have read and agreed to the published version of the manuscript.

Funding: The study was supported by The Three-Year Public Health Action Plan of Shanghai (grant no. GWV-10.1-XK13 to J.C.).

Institutional Review Board Statement: The current study was approved by the Ethics Review Board of the Department of Biosciences, COMSATS University Islamabad (CUI), and completely followed the ethical considerations.

Informed Consent Statement: Not applicable.

Data Availability Statement: The data that support the findings of this study are openly available on request.

Conflicts of Interest: The authors declare no conflict of interest.

References

- Salomão, J.F.M. Focus session: Parasitic diseases of the central nervous system—An introduction. In *Childs Nervous System*; Springer: Berlin/Heidelberg, Germany, 2022; pp. 1–2. [CrossRef]
- Timsit, C.; Ayoub, N.; Arama, E.; Mercier, F. Seizures due to neurocysticercosis in a postpartum French Congolese woman: Sometimes it is the zebra. *Int. J. Obstet. Anesth.* 2022, 52, 103601. [CrossRef]
- 3. Abuseir, S. Meat-borne parasites in the Arab world: A review in a One Health perspective. *Parasitol. Res.* 2021, 120, 4153–4166.
- Nematihonar, B.; Hosseini, S.P.K.; Toutounchi, A.H. *Taenia saginata*, the incidental find in case of intestinal perforation after blunt trauma and literature review. *Int. J. Surg. Case Rep.* 2023, 103, 107909.
- Qian, M.-B.; Xiao, N.; Li, S.-Z.; Abela-Ridder, B.; Carabin, H.; Fahrion, A.S.; Engels, D.; Zhou, X.-N. Control of taeniasis and cysticercosis in China. *Adv. Parasitol.* 2020, 110, 289–317.
- Weka, R.P.; Kamani, J.; Cogan, T.; Eisler, M.; Morgan, E.R. Overview of Taenia solium cysticercosis in West Africa. Acta Trop. 2019, 190, 329–338.

- Ndimubanzi, P.C.; Carabin, H.; Budke, C.M.; Nguyen, H.; Qian, Y.-J.; Rainwater, E.; Dickey, M.; Reynolds, S.; Stoner, J.A. A systematic review of the frequency of neurocyticercosis with a focus on people with epilepsy. *PLoS Negl. Trop. Dis.* 2010, *4*, e870.
- 8. Torgerson, P.R.; Macpherson, C.N. The socioeconomic burden of parasitic zoonoses: Global trends. Vet. Parasitol. 2011, 182, 79–95.
- Mwang'onde, B.J. Taenia solium Cysticercosis in Sub-Saharan Africa: Perspectives for a Better Control. Adv. Infect. Dis. 2019, 9, 105.
- Moyano, L.M.; Saito, M.; Montano, S.M.; Gonzalvez, G.; Olaya, S.; Ayvar, V.; González, I.; Larrauri, L.; Tsang, V.C.; Llanos, F. Neurocysticercosis as a cause of epilepsy and seizures in two community-based studies in a cysticercosis-endemic region in Peru. *PLoS Negl. Trop. Dis.* 2014, 8, e2692.
- 11. WHO. Taenia Solium: Use of Existing Diagnostic Tools in Public Health Programmes: Report of a Virtual Meeting of Experts, 17 May 2022; WHO: Geneva, Switzerland, 2022.
- 12. Ito, A.; Li, T.; Wandra, T.; Dekumyoy, P.; Yanagida, T.; Okamoto, M.; Budke, C.M. Taeniasis and cysticercosis in Asia: A review with emphasis on molecular approaches and local lifestyles. *Acta Trop.* **2019**, *198*, 105075.
- 13. KC, B.; Kaphle, K. Taenia solium Prevalence in Nepal: A Retrospective Review. Nepal Vet. J. 2019, 36, 98–104.
- 14. Nandha, B.; Srinivasan, R.; Jambulingam, P. Cutaneous leishmaniasis: Knowledge, attitude and practices of the inhabitants of the Kani forest tribal settlements of Tiruvananthapuram district, Kerala, India. *Health Educ. Res.* **2014**, *29*, 1049–1057.
- 15. Mishra, D.; Kalra, V.; Aggarwal, K. Awareness about taeniasis and neurocysticercosis among municipal schoolteachers in Delhi. *J. Commun. Dis.* **2007**, *39*, 225–228.
- 16. Nyangi, C.; Stelzle, D.; Mkupasi, E.M.; Ngowi, H.A.; Churi, A.J.; Schmidt, V.; Mahonge, C.; Winkler, A.S. Knowledge, attitudes and practices related to Taenia solium cysticercosis and taeniasis in Tanzania. *BMC Infect. Dis.* **2022**, *22*, 534.
- 17. Khan, J.A.; Khayyam, U.; Waheed, A.; Khokhar, M.F. Exploring the nexus between land use land cover (LULC) changes and population growth in a planned city of islamabad and unplanned city of Rawalpindi, Pakistan. *Heliyon* **2023**, *9*, e13297.
- 18. Raosoft Inc. Sample Size Calculator by Raosoft Inc. 2020; Raosoft Inc.: Seattle, WA, USA, 2021.
- Eichenberger, R.M.; Thomas, L.F.; Gabriël, S.; Bobić, B.; Devleesschauwer, B.; Robertson, L.J.; Saratsis, A.; Torgerson, P.R.; Braae, U.C.; Dermauw, V. Epidemiology of *Taenia saginata* taeniosis/cysticercosis: A systematic review of the distribution in East, Southeast and South Asia. *Parasites Vectors* 2020, 13, 234.
- 20. Bhandari, R.; Chamlagain, R.; Sutanto, E.; Adam, H.; Dhungana, A.; Ali, A.A.; Piya, B.; Ubaid, A.; Neumayr, A. Intestinal perforation due to adult tapeworm of Taenia: A case report and review of the literature. *Clin. Med. Insights Case Rep.* **2022**, *15*, 11795476211072670.
- 21. Chelkeba, L.; Mekonnen, Z.; Emana, D.; Jimma, W.; Melaku, T. Prevalence of soil-transmitted helminths infections among preschool and school-age children in Ethiopia: A systematic review and meta-analysis. *Glob. Health Res. Policy* **2022**, *7*, 9.
- 22. Hailegebriel, T.; Nibret, E.; Munshea, A. Prevalence of soil-transmitted helminth infection among school-aged children of Ethiopia: A systematic review and meta-analysis. *Infect. Dis. Res. Treat.* **2020**, *13*, 1178633720962812.
- Sartorius, B.; Cano, J.; Simpson, H.; Tusting, L.S.; Marczak, L.B.; Miller-Petrie, M.K.; Kinvi, B.; Zoure, H.; Mwinzi, P.; Hay, S.I. Prevalence and intensity of soil-transmitted helminth infections of children in sub-Saharan Africa, 2000–18: A geospatial analysis. *Lancet Glob. Health* 2021, 9, e52–e60.
- Kusolsuk, T.; Chaisiri, K.; Poodeepiyasawad, A.; Sa-Nguankiat, S.; Homsuwan, N.; Yanagida, T.; Okamoto, M.; Watthanakulpanich, D.; Waikagul, J.; Dekumyoy, P. Risk factors and prevalence of taeniasis among the Karen people of Tha Song Yang District, Tak Province, Thailand. *Parasite* 2021, 28, 53.
- 25. Anyin, J.; Umar, Y.; Dikwa, K.; Musa, M.; Ogundeji, E.; Ojemudia, T.; Ogundeji, A. Prevalence of Human Taeniasis in JOS South Local Government Area of Plateau State. *IOSR J. Environ. Sci. Toxicol. Food Technol.* **2019**, *7*, e52–e57.
- Sutisna, P.; Kapti, I.N.; Wandra, T.; Dharmawan, N.S.; Swastika, K.; Sudewi, A.R.; Susilawathi, N.M.; Sudarmaja, I.M.; Yanagida, T.; Okamoto, M. Towards a cysticercosis-free tropical resort island: A historical overview of taeniasis/cysticercosis in Bali. *Acta Trop.* 2019, 190, 273–283.
- Mwasunda, J.A.; Irunde, J.I.; Kajunguri, D.; Kuznetsov, D. Outbreak or extinction of bovine cysticercosis and human taeniasis: A stochastic modelling approach. *Appl. Math. Model.* 2022, 106, 73–85.
- Ito, A.; Budke, C.M. Focus: Zoonotic Disease: Genetic Diversity of Taenia solium and its Relation to Clinical Presentation of Cysticercosis. Yale J. Biol. Med. 2021, 94, 343.
- 29. Altintaş, N.; Altintaş, N.; Sarica, Ö.; Mesut, A.; Akdur, E.; Ünver, A. Evaluation of School-Based Creating Awareness of Cystic Echinococcosis: A Pilot Study. *Cumhur. Üniversitesi Sağlık Bilim. Enstitüsü Derg.* **2021**, *6*, 23–31.
- Singh, B.B.; Kaur, R.; Gill, G.S.; Gill, J.; Soni, R.K.; Aulakh, R.S. Knowledge, attitude and practices relating to zoonotic diseases among livestock farmers in Punjab, India. Acta Trop. 2019, 189, 15–21.
- Jorga, E.; Van Damme, I.; Mideksa, B.; Gabriël, S. Knowledge, attitude, and practices of the community and meat industry workers towards *Taenia saginata* taeniosis and bovine cysticercosis in and around Jimma and Ambo towns of Ethiopia. *Prev. Vet. Med.* 2022, 204, 105653.
- Shu-Chuan, K. Food safety knowledge, attitude, and practice among elementary schoolchildren in southern Taiwan. *Food Control* 2021, 122, 107818. [CrossRef]
- Adesokan, H.K.; Adeoye, F.A. Porcine cysticercosis in slaughtered pigs and factors related to Taenia solium transmission amongst abattoir workers in Ibadan, Nigeria. Pan Afr. Med. J. 2019, 32, 145. [CrossRef]

- Sánchez, A.L.; Lindbäck, J.; Schantz, P.M.; Sone, M.; Sakai, H.; Medina, M.T.; Ljungström, I. A population-based, case-control study of Taenia solium taeniasis and cysticercosis. *Ann. Trop. Med. Parasitol.* 1999, 93, 247–258.
- Coral-Almeida, M.; Gabriël, S.; Abatih, E.N.; Praet, N.; Benitez, W.; Dorny, P. Taenia solium Human Cysticercosis: A Systematic Review of Sero-epidemiological Data from Endemic Zones around the World. *PLoS Negl. Trop. Dis.* 2015, 9, e0003919. [CrossRef]
- 36. Veena, K.; Devendra, M.; Kiran, A. School-based health education intervention for prevention of taeniasis and neurocysticercosis: A pilot study. *J. Commun. Dis.* **2012**, *44*, 223–230.
- 37. Krecek, R.C.; Mohammed, H.; Michael, L.M.; Schantz, P.M.; Ntanjana, L.; Morey, L.; Werre, S.R.; Willingham, A.L., III. Risk factors of porcine cysticercosis in the Eastern Cape Province, South Africa. *PLoS ONE* **2012**, *7*, e37718.
- Mardu, F.; Berhe, B.; Tesfay, K.; Negash, H. Assessment of sanitary condition of services as implication for intestinal parasitic infections among prison inmates: Institutional based cross-sectional study in eastern Tigrai zonal prison, northern Ethiopia, 2018. BMC Res. Notes 2019, 12, 393.
- 39. Bolek, S. Consumer knowledge, attitudes, and judgments about food safety: A consumer analysis. *Trends Food Sci. Technol.* **2020**, 102, 242–248.
- 40. Shongwe, N.A.; Byaruhanga, C.; Dorny, P.; Dermauw, V.; Qekwana, D.N. Knowledge, practices and seroprevalence of Taenia species in smallholder farms in Gauteng, South Africa. *PLoS ONE* **2020**, *15*, e0244055.
- 41. Weka, R.; Bwala, D.; Adedeji, Y.; Ifende, I.; Davou, A.; Ogo, N.; Luka, P. Tracing the domestic pigs in Africa. In *Tracing the Domestic Pig*; IntechOpen: London, UK, 2021.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.